Study Sheet
Chapter 15-17
Name __________________________
Instructions:  Answer the following questions as completely as possible in the space provided.

Know your vocabulary !
 Short Answer:

1. Explain in terms of bonding why water at 4 degrees Celsius is more dense than ice at 4oC.

2. How many joules of heat are required to convert 40.0 g of ice at a temperature of – 20 oC to steam at a temperature of 120.0 oC? (Cp or solid H2O = 2.06 J/g oC, gas= 2.02 J/g oC)

3. The table below lists some liquids and their vapor pressures at 25 oC.

	Liquid
	Vapor pressure (kPa)

	1
	63

	2
	3.64

	3
	0.272

	4
	1798 


a. Liquid _______ has the weakest intermolecular forces.

b. Liquid _______ has the highest boiling point.

c. Liquid _______ has the strongest intermolecular forces.
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4. Interpret the graph to answer the following.

a. What is the normal boiling point of substance x?

b. Which substance is most volatile?

c. What is the vapor pressure of substance z at 40 oC?

d. What is the boiling point of substance y at 60 kPa?

5. Using the phase diagram for carbon dioxide found below, answer the following questions.  
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a. At what temperature does the vapor pressure of solid CO2 equal atmospheric pressure?

b. What is the temperature of the triple point?

c. Above what pressure may liquid CO2 exist?

d. What is the critical temperature for CO2?

e. What is the critical pressure of CO2?

f. A carbon dioxide fire extinguisher contains CO2 at 25 oC and a pressure of 6080 kPa.  In what phase is the CO2?

6. How do the normal boiling points and vapor pressure compare between a polar liquid and a nonpolar liquid?

7. An open armed manometer is filled with mercury and connected to a container of hydrogen.  The mercury level is 62 mm higher in the arm of the tube connected to the gas.  Air pressure is 97.7 kPa.  What is the pressure of the hydrogen in kilopascals?

8. A closed manometer is filled with mercury and connected to a container of nitrogen.  The difference in the height of mercury in the two arms is 691 mm what is the pressure of the nitrogen in kilopascals?

9. An open manometer connected to a tank of argon has a mercury level 38 mm higher in the atmospheric arm.  If atmospheric pressure is 96.3 kPa, what is the pressure of the argon?

10. A closed manometer is filled with mercury and connected to a container of helium.  The difference in the height of mercury in the two arms is 86.0 mm.  What is the pressure, in kilopascals, of the helium? Extra credit: What is the pressure in milli bars?

11. Convert the following temperatures to Kelvin

a. 65 °C  _________________

b. 15 °C  _________________

c. 45 °C  _________________

d. –36 °C  ________________

e. –73 °C  ________________

12. The temperature of a piece of metal is 25°C.  What would the temperature be if the temperature is doubled?

101.325 kPa/760 mm mer., or 1 atmosphere/760mm/1013.25 milli bars/29.921 inches of mercury, or 1kPa/7.5 mm mercury.







